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10A05H (A) = 63| 2H08H (A) i n 8 12. 7%
10406H () i 63| 2H09H () = 19 16 25. 4%
10A07H (7K) & 56| 2H10H (k) E 74 18 32. 1%
105088 (K) = 471 2A118 (K- #) i 49 2 4. 3%
10A09H (&) [55] 441 2H12H (®) = 88 44 100. 0%
10A10H () i 59| 2H13H () 5] n 12 20. 3%
10A11H (/) E 33| 2A14H8 q=D 5] 43 10 30. 3%
10A128 (A - ) = 38| 2A15H (A) E 99 61 160. 5%
10A13H () 8] 101 2R16H () ES 89 19 27.1%
108148 (%) = 58] 2A17H (k) ES 85 217 46. 6%
10A15H (XK) = 161 2AH18H (K) E 84 8 10. 5%
10A16H (&) = 66] 2H19H (&) [55] 18 12 18. 2%
10A17H (1) i 611 2H20H (1) E 81 20 32. 8%
108188 (/) [55] 511 2A21H (/) E 81 30 58. 8%
10A19H (A) i 611 2H22H (A) E 13 12 19. 7%
10A208 () [55] 62| 2R23H (R) ES 88 26 41. 9%
10A218 (k) i 63| 2A24H (k) ES 69 6 9. 5%
10A228 (XK) i 701 2A25H (K) ES 120 50 11. 4%
10A238 (#) i 60] 2A26H (#) = 93 33 55. 0%
10A248 () [55] 53| 2A27H () £ 110 57 107. 5%
10A258 q=) [55] 62| 2A28H q=D) i 95 33 53. 2%
10A26H (R) Z 591 2A29H (A) ES 79 20 33. 9%
10A278 (R Z 88| 3R01H (R) ES 29 A 59 A67.0%
10A288 (K) [55] 80| 3R02H (K) = 87 7 8. 8%
10A298 (K) [55] 94| 3A03A (K) = 124 30 31. 9%
10A308 (%) = 14| 3A048 (&) i 107 33 44. 6%
10A318 () = 12| 3A05H (x) i 107 35 48. 6%
118018 q=)) = 811 3A06H q=D) 5] 63 A 18] A22.2%
118028 (A) = 12| 3A07H (A) i 142 70 97. 2%
11A03H (k- #) i 92| 3A08AH (R) = 114 22 23. 9%
118048 (K) i 105 3A09H (k) - 91 A 141 A13.3%

2,033 Hi 2,663 630 31. 0%




